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class Node:
def init (self, value):
self.value = value

self.children = []

def tree(li):
nodes = [Node(i) for i in 1i]
for i in range(l, len(li)):
nodes[(i - 1) // 2].children.append(nodes[i])

return nodes[0]

def calc(node, level=0):
if node is None:

return 0

return (node.value if level % 2 == 1 else 0) + sum(calc(n, level + 1) for n in

node.children)
1i=1[3, 5, 8, 12, 15, 18, 21]
root = tree(1li)

print(calc(root))
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if node is None:

return @ # (000 000 OO0 OO 00

1. ??7? Node

class Node:

def init (self, value):

self.value = value # [0 000 OO0 O
self.children = [] # [0 000 00 000 (ooo)
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n = Node(3)
print(n.value) # 3
print(n.children) # [1

2. 7?7?77 tree()

def tree(li):
nodes = [Node(i) for i in 1i]
for i in range(1l, len(li)):
nodes[(i - 1) // 2].children.append(nodes[i])

return nodes[0]
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index : value
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3. ?? ?7? calc()

def calc(node, level=0):
if node is None:
return 0
return (node.value if level % 2 == 1 else 0) + sum(calc(n, level + 1) for n in

node.children)
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